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Illustrate your answers with labelled diagrams and 

examples wherever necessary. 

g6P P/P/6") 6%) \/Q° PC)/P6167 	/ 

SECTION — A 

(As per 2014 syllabus) 

Follow the instructions given in each Group and 

answer the questions accordingly. 

geGWO &167661 gQ6? -36Q's71.F.0431 glvp-ep GOP 3E1 I 

GROUP —A 

9 — -1i;)161 

Answer all questions serially. 

go19,caGo QIng. cgqG) QQ@ "Izi 

Choose the correct answer from the choices given 

under each bit : 	 1x5 = 5 

gsgii9 ?.1°1661 31C11Qq91 	mq 59, Q@61" 

91 	: 

(a) Which hormone is secreted by the Leydig 

Cells ? 

661§6t691cS1 GQ4 QGC11q 	y_4 ? 

(i) Vasopressin 

QlecalGgN 

(ii) Gonadotropins 

6019iGgI6'479c4 

(iii) Oxytocin 

(iv) Testosterone 

6616(1.46) 

(b) From which part of the spermatid is 

acrosome formed ? 

glq qslq_G) 6Q4 z1.*2 zIO'G 91Q 	? 

(i) Nucleus 

QLA. 

(ii) Mitochondria 
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(iii) Golgi bodies 
GISMO 4:1616)16196)61 "c16g 910t9 691066) 2191 

00 CIO 
4s147lQ19? 921QQ1 41161 GOGGQ 694 

(iv) Ribosome 	 9,1Q219 6;61 1661 ? 

621Q6Q1G9IR 
(i) Chromosome 

(c) Which is the infective stage of Plasmodium qe95 
Falciparum ? 

(ii) Elementle 
690 9A64:1I*sa6i 	 FAV 

1Isciag 
3661 ? 

(i) Sporozoite 	
(iii) Factor 

916)9 
6Q166119161, 

(ii) Trophozoite 	 (iv) Gene 

661 1GUI96', 

(iii) Cryptozoite 	 (e) Which one of the following phenomena 

	

6419461 	 is involved in the conduction of nerve 

(iv) Merozoite 	 impulse? 

	

4166)1961, 	 OIGQ616 Q1°Q29662 	CAQI 

	

(d) Which term did Mendel use to denote 	 694s16" Q°Clg ? 

something in germ cells responsible for 	 (i) Biochemical 

transmission of characters ? 
GgQ61ICIICA9 
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(c) The giant honey bee, yielding maximum 

honey is Apis mellifera. 

CN'IeJ,9 c129QR 9gVI 92412cl& 6261t  .0Q1 

sokcga 

(d) The genotype of a carrier of haemophilia is 

X" X". 

961 6)ggIQ 91299 	g214 6261'X" X" I 

GROUP - B 

- 1g161 

3. Answer any four of the following : 	2x4 = 8 

(Restrict your answers to two or three important 

sentences each) 

	

socQleCI 6'I661 1  cgq@ g@G) 	: 

(gs9 ,19 ggq ?G) 91 691 1  GEATzi 9194661 

Q1110 6161) 

(a) State the significance of crossingover. 

C116)6(&) 	6961 I 
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(ii) Biophysical 

6g9Ga s9  

(iii) Electrical 

(iv) Electrochemical 

611(0110§9 

2. 
Fill up the blanks with correct answer(s) / correct 

the underlined portion of the sentence 1 x4 = 
4 

(2169,gg9 41Q q9Q19  q-Q61 	/ g1946IG6IQ  

Tro bq 961 : 

(a) The fusion of male and female pronuclei is 

called 

.zio ql 	
i21 Z114 I 

(b) Wildlife Protection Act was enacted in the 

year 	
by Government of India. 

61161'Q1619161 	
4-1391G61 99LIG1 

41°6SE16131Q9 91d991611 926G1 I 

MN - 4A/16 	 ( 6 ) 



(b) How is the AIDS provirus formed ? 

	

<igqgiq vlq a6161oQ 	? 

(c) What is "Ozone Shield" ? 

"(3691 QIQ" 9 ? 

(d) How is tubectomy effective in birth control ? 

-kte66") 6146Qq1 	U'QgQ ? 

(e) How are kidney stones formed ? 

99 agp 	c:1& 21 ? 

(f) What is BOD ? 

9'0 ? 

(g) How does multiple fission occur in Amoeba ? 

1c16,166) Q0@19Q gg01 6iQ61 21 ? 

(h) What are the forensic applications of DNA 

finger printing ? 

14:161 306)16 QUM g6k7,161909 

9'0? 

4. Differentiate between any two of the following 

(Restrict each answer to three to four important 

sentences) 

621191 41  1'1 2 16) g121911 Q63 : 

(86949 61616) 	6'16611 1  95,N 	9194661 

(211419 611) 

(a) Phenotype and Genotype 

900 g2g (3 -G'G cgTg 

(b) Active immunity and Passive immunity 

Q 	6611616611491 NQ QI O66210 6611616611491 

(c) In-Situ conservation and Ex-Situ 

conservation 

quI69 Q°61SE10 G 61-§8Q169 Q°6)20 

(d) Adenohypophysis and Neurohypophysis 

316VG9121Q6C11<al s  (3 9,4661121Q6€11- 

gliq 

GROUP — C 

— 6'Q 161 

pairs : 
	

3x2 = 6 
	 Answer any two of the following questions : 
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65ae16-r(J 	gqG) 616262 QZl : 

5. Describe the structure and functions of human 

fore-brain. 	 6 

creloo 	crtw 610Q G 91ziti 9q19 951 I 

Give an account of the human female reproductive 

system. 	 6 

41196' g1 999 96) 19 ‘, Q6)01 	I 

7. Explain the chromosomal basis of sex 

determination in animals. 	 6 

g1a41iQ6-GQ 41c r 	 i616162 96199 

8. Write notes on any two of the following 

3x2 = 6 

ek91g. 6Z101e. 20 goso 6'c1611 G611 : 

(a) Reflex action 

g -koo god 

(b) Innate immunity 

Q9919 6611616621 16;1 

MN — 4A/16 	 ( 10 ) 
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(c) Greenhouse effect 

C1V9691091 g9IQ 

(d) Inheritance of colour blindness in man 

C1 9_0116Q Q 191 @ 

SECTION — B 

(As per 2011 to 2013 syllabi) 

Follow the instructions given in each Group and 

answer the questions accordingly. 

ge6NG) &167661 g961 	 gfVee PPP / 

GROUP — A 

— - )10 

Answer all questions serially. 

R41q,Q661 	gq@ 616261 	I 

1. Choose the correct answer from the choices given 

under each bit : 	 1x5 = 5 

g6Q49 ZI°V661 FiF.11C11clej_QI 	41,1 2 69 626161" 

91 	: 

(a) A person having which of the following blood 

groups can be a universal donor ? 

MN —4A/16 
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G9d6N6611q16) Q 11 CZ119919 61g6'101 

? 

(i) A 

4 

B 

(iii) AB 

(iv) 0 

(3 

(b) Which hormone is called 'emergency 

hormone' ? 

G9d PQeoR? `9 16116'16'1Q 	wom ? 

(i) Insulin 

gq)(<1P- 9 

(ii) Estrogen 

@6§169 

(iii) Progesteron 

cg 166,' 

(iv) Adrenaline 

(c) Which of the following is a sex-linked disease 

in man ? 

6QI6101Q6' We 690 474'O46 is r 

92619661161? 

(i) Albinism 

(ii) Haemophilia 

(iii) Syphilis 

c21frc2( 

(iv) AIDS 

49QI 

(d) Which of the following is the genetic material 

of HIV? 
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§Gqig s9a-11@1 	
? 

(I) DNA 

(ii) RNA 

cNN9 

(iii) Nucleoproteins 

Tq(3 egiN s  

(iv) Both DNA and RNA 

Q@Zt 	(3 al 1  

(e) Acrosome of sperm develops from which of 

the following 

qs ► qG) s1s914( 	
Clq) 91101 1 

- 9a9 sPi@am ? 

(i) Centriole 

6(4(N 

(ii) Nucleus  

(iii) Golgi bodies 

61S-G' 0(id 

(iv) Mitochondria 

clIQW19 -01 

2. Fill up the blanks with correct answer(s) : 

1x4 = 4 

Q59 Q@6) QUO 4, 4 14, 4i9e QG : 

(a) In the human ear the external auditory meatus 

terminates at 	 

4119Q 94160 QIPLI Qid ?Q@ 	 661 Gt10 

6P1QaM I 

(b) Mendel studied 	 pairs of 

contrasting characters of garden pea in his 

hereditary experiments. 

64'161 9IQ° Q°1616' 4:1Q15 61661 061 61 

61G1   60191 6,QW1 9_061 ERIC19 

91-'4GQ I 
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(d) The causative agent of Amoebiasis is 

Answer any four of the following : 	2x4 = 8 

(Restrict your answers to two or three important 

sentences each) 

GZ16 -10<2 	gq@ 9962 )Z.1 I 

(g6949 6/961 ?62 	§691 1 	 Q194661 

4119 6161) 

(a) Write the location and function of malpighian 

tubules. 

9 - 916/ F.J6) 	(3 9IZI4 66161 I 

(c) The point at which homologous 

chromosomes cross over each other is 

called   

6214 -q662 Q 1 ?, 4  9.0999  zng@e 	91i 
iPlrall I 

(b) What is reflex action ? 

Ossag gzI 9'0 ? 

(c) Write the cause and important symptoms of 

goitre. 

6196106191610 (3 9,614 6100 66161 I 

(d) What is C. T. Scan ? 

gnq 9'0 ? 

(e) What is corpus luteum ? 

94Jg Ti- aci 9'e ? 

(f) What is 'Schizophrenia' ? 

T169160'ft' 9'0 5)_613 ? 

(g) What are transgenic animals ? 

6'qc2169N ag 9'0 ? 

(h) What is `ELISA' ? 

`191' 9'0 ? 

Distinguish between any two of the following 

pairs : 	 3x2 = 6 

(Restrict each answer to three to four important 

sentences) 
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6. Explain the mechanism of synaptic-transmission. 

6 

3ga91 1:21°Q9 	9q.ia 

7. Describe the methods of asexual reproduction in 

animals. 	 6 

g1014119q 	4 999 go1914119 QEd9 961 I 

8. Write notes on any two of the following : 3x2 = 6 

k9Ig 601e0-loci ?_c)' 9069 1 cie1 6G11: 

(a) Cardiac Cycle 

?;92 

(b) Autonomic Nervous System 

clfac'gsa qicigR 

(c) Human Ovary 

416' 46 §QAQ 

(d) Formation of Urine in Man 

civ. csic@ qg, gqp 

••• • 

kqig 6ca19i cR12 6x160'-1 19$1_Qi@ 4712194 Q61a : 

(4 € 0119  ggG)1-  2 	9_2qqd 6' 194662  

Q1c19 6161) 

(a) Blood and Lymph 

cc (3 QQQI 

(b) Ureotelic and Uricotelic 

ciA)(3Giq (3 q61691€ ,N 

(c) Analgesics and Antibiotics 

ai9iss9atiqa (3 E11itiQ1(3N4] 

(d) ECG and EEG 

@czi 	QG1G' 

GROUP — C 

— 91G1 

Answer any two of the following questions 

606Q-16-112; gq@ 9416 ")'a : 

5. Give an account of composition of human blood. 

6 

clFZI46g Q°616)916) 19 Q9a - Z.1 I 
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